e R
O 20143 & o HF2 ZE AHe= 18,0387H= HAIEKCH, 0= M CHH|
0.2% &7}
O 20144 =717t & & SAMAS= 87,6642 MEALHH| 2.2% S7t
O 20149] AAXY B SAKE 4.86Z22 HMALH| 0.1 57t
N J
1.9 &
O 201443 & X 2EF2 2= AA4= 18,0387H0|0, 0| AIFEHOAM 2F3t=
EMX= 87,664HOZ A EAUS.
- 0|E 201331t H|w5to] BH, AA|= 357H(0.2%) S7t, SAAE= 1,948F
(2.3%)0| B7t5tR 2.
(B 1) A=E AIA & SAK g
(91 7, &, %)
9 & A4 — Z AR =z
20084 17,215 -3.1 74,346 -0.7
20094 17,199 -0.1 76,620 3.1
20104 17,517 1.8 83,702 9.2
20114 17,651 0.8 83,613 -0.1
20124 18,209 3.2 86,055 2.9
20134 18,003 -1.1 85,716 -0.4
20144 18,038 0.2 87,664 2.3
2. ARH
)0 &
O 201492 = AIRIA|I4= 18,038702 HHALHH| 0.2%(357H) St
o £ | 20083 | 2009¢ | 20108 | 20118 | 2012¢ | 2013% | 20144
PN Roap 17,215 17,199 17,517 17,651 18,209 18,003 18,038
SLE -3.1 -0.1 1.8 0.8 3.2 -1.1 0.2
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I AR
= AR
H
18,500
18,000
17,000 .
16,500 - - 1
20084 20094 20104 20114 20124 20134 20144 Sk

2) ML AR
O MEYAIE-XIE 22.6%, ot==-H7|Z 14.2%, 718 10.8% S S7totRA2L,

O M7[-7tA -2 -16.7%, EH- - HH -4.6%, 28 - 2&Y -2.5%5 Cix €A

Moju e AL A s # - 4 H|

S e 20139 | 2014@ | ARl | BHE | 20139 | 20144

AL 18,003 | 18,038 35 0.2 100 100

A sELLOY 2 3 1 50 0
B & A 2 1 -1 -50 0 0
CH = ¢ 1,640 1,693 53 3.2 9 9
D M| -7tA- 6 5 -1 -16.7 0 0
E o= - HIZ 21 24 3 14.2 0 0
FAa A ¢ 590 654 64 10.8 3 4
G -A0¢ 4,829 4,691 -138 -2.8 27 26
He =+ ¢ 1,736 1,742 6 0.4 10 10
| £e-ZMHY 3,493 3,465 -28 -0.8 19 19
J EHIAHHE 108 103 -5 -4.6 1 1
K28 EdY 119 116 -3 -2.5 1 1
L 23420 655 697 42 6.4 4 4
M ME st & 432 467 35 8.1 2 3
N Ab Al H-X| & 168 206 38 22.6 1 1
O 33 A3 EY 40 40 0 0 0 0
P WS AMH A 915 916 1 0.1 5 5
Q H2 A3 E X 535 544 9 1.7 3 3
R 0z - AZx 07} 591 584 -7 -1.2 3 3
S M Qo MH AY 2,121 2,087 -34 -1.6 12 11
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AACHEZ AR = 20134
H m 20144
8000
7000
6000
5000
4000
3000
2000
1008 1 | II 1 | 1
A B D E F G H J K L M N (0] Q R S
2014'A SH4H|
JE} HZEH
20% 9%
THRLMHI A =AM
1% 26%
WEMHAN
5% 24
0%
KU A
19%
3) MM HEE AAAIS
(2 2 7H, %)
a o At R SUE T g H
= 20124 20134 20144 “14/13 20124 20134 20144
o 18,209 18,003 | 18,038 0.2 100 100 100
& 1~43 15,400 15,184 | 15,153 -0.2 84.5 84.3 84
4 5~ 99Y 2,729 2,742 2,807 2.4 15 15.2 15.5
4 100~299% 66 66 68 3 0.4 0.4 0.4
4 300% Ol 14 11 10 -9.1 0.1 0.1 0.1
4) ZE|SERE AR5
O JHQIAIRAA| Q] T 8H|= 84.3% = MALH| 0.6% &4
O HRIAMAAM S FLdH|= 11.9%= HMACHH| 4% S7t
(A2 2 7H, %)
2 = AL |4 SUE T g H
= 20124 | 20134 | 20144 | “14/13 | 20124 | 2013% | 20144
M A 18,209 18,003 18,038 0.2 100 100 100
& NN | 15,661 | 15,312 | 15,217 -0.6 85.4 85.1 84.3
& HOIA R 2,025 2,053 2,136 4 11.2 11.4 11.9
-3 AR 2 1,609 1,633 1,740 6.6 8.8 9.1 9.6
- 3|AH0| 2|2l 416 420 396 -5.7 2.2 2.3 2.2
@ HIHQIA AR 623 638 685 7.4 3.4 3.5 3.8
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5) LHEX S8 AIGH|=
O gdQ! tHEQ! ArA|== 59%, 0 40| CHER! ArX|s= 41% LEHS.

(1 2 7H, %)

o AR A= SHUE T3t
i = 20123 | 20139 | 20149 | “14/13 | 20129 | 20139 | 20144
A 18,209 | 18,003 | 18,038 0.2 100 100 100
& SHEL 10,752 | 10,588 | 10,697 0 59 59 59
& O JCHEX 7,457 7,415 7,341 -1 41 41 41

6) SH AIHs
O SHAIEHs= HAE 2,280(12.6%), 2ALS 1,736(9.6%), X3S 1,609(8.9%)
2O LIE
O M;;LE HELES, TN 152 AE 37t M 15, M 25, B3 25, 83 45,
A

MW 35, TH 252 A% 4

(SE AIgH=)
(2rl < 7H, %)

- At A2 = T A
= 20134 20144 AR 328 20134 20144

2 ¥ 7 18,003 18,038 35 0.2 100 100
N 1 = 486 433 -53 -1 2.7 2.4
N 2 = 824 803 -21 -2.5 4.6 4.5
N 3 = 1,403 1391 -12 -0.9 7.8 7.7
2 M 5 1,697 1736 39 2.3 9.4 9.6
2218 639 653 14 2.2 3.5 3.6
222s 903 887 -16 -1.8 5.1 4.9
2235 1,185 1,199 14 1.2 6.6 6.7
2248 663 645 -18 -2.7 3.7 3.6
M1 1,093 1,099 6 0.5 6.1 6.1
g H2 3 909 958 49 54 5.0 5.3
g Hd3 = 1,752 1,609 -143 -8.2 9.7 8.9
MEISE 410 501 91 22.2 2.3 2.8
HELIE 594 626 32 5.4 3.3 35
A5 2,272 2,280 8 0.4 12.6 12.6
T M1 S 1,474 1,529 bb 3.7 8.2 8.6
2 M2E 1,635 1,518 -17 -1.1 8.5 8.4
2 4 5 164 171 7 4.3 0.9 0.9
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A

o=

T

= AHAe=2013E
= AR

2014

2500

2000

1500

1000

500

. SA

1) 70 &
O 2014HZ ALAK|2| & A= 87,664HO 2 TLALHH| 2.3%(1,948E) 7t
CEHERD)
wl = 20084 20094 20104 20114 20124 20134 20144
EININES 74,346 76,620 83,702 83,613 86,055 85,716 87,664
SUE -0.7 3.1 9.2 -0.1 2.9 -0.4 2.3
ATE AKX F0|
90,00%
85,000
80,000
75,000
65,000
20084 20094 20104 20114 20124 20134 20144
2) MAH BAK
O MAH ZAIK} = T- AN 13,6908HOZ FMH|2| 15.6%S XIX|5I UM, M=
4 11,011H(12.6%), WSMHIA 10,714(12.2%), & SAIKA 9,529(10.9%)
Q= ZAtotl US.
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O BAR 47} 5715t YES AN 20.7%, 04 ARX- 017} 9%, 514 T7|S 7.7%, X7 7HA-
AE 6.8%0 Z718S HIUOH, TY -50%, HEA- AR -5.2% LAS:,

20000

15000

10000

5000

(A EFE AR )
(S8 : &, %)
Moo = Z MRS 5 & 7 48
2013d [ 20148 | ZAe | B2 | 20139 | 20144
HoA Y 85,716 | 87,664 | 1,048 2.3 100 100
A =Y U0y 14 14 0 0 0 0
B & 4 2 -2 50 0 0
C HxY 10,660 | 11,011 351 3.3 12.4 12.6
D 7| 7tA-E 73 78 5 6.8 0.1 0.1
E ol H7|2 260 280 20 7.7 0.3 0.3
F 249 6,275 | 8139 | 1,864 29.7 7.3 9.3
G & AN 14,008 | 13,698 310 2.2 16.3 15.6
H 2+ 9217 | 9142 75 0.8 10.8 10.4
| 8- SAHY 9,392 | 9,529 137 1.5 11 10.9
J BE-EA-HE 853 771 -82 96 1 0.9
K 28 23y 1126 | 1,104 -22 -2 1.3 1.3
L 2oy 2,045 | 1,938 107 5.2 2.4 2.2
M HE B3t 7|8 2,719 | 2,585 134 4.9 3.2 2.9
N AKIAIA - X|8d 2283 | 2,314 31 1.4 2.7 2.6
0 ZZ M3 2246 | 2,235 -1 05 2.6 2.6
P DRMHIAY 10,827 | 10,714 -113 -1 12.6 12.2
Q 2-AE=X| 6,719 | 6,943 224 3.3 7.8 7.9
R Ol AZX 0} 1977 | 2,154 177 9 2.3 2.5
S JHRIAH|AY 5018 | 5,013 -5 0.1 5.9 5.7
MAZFE SAA
| 20134
7 = 20144
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20144 S gH|

7|Et HZE

BHARI=X|
8%

WFAHAY
12%

3) MEH 28 SAtA=

O AIA| A2H SAA MECHH| 2.3% 2440t A9 = LIELH
(SH9): 8, %)
= SARLS %as T A
= 20124 20134 20144 14/'13 20124 20134 | 20144
oA o 86,065 | 85,716 | 87,664 2.3 100 100 100
¢ 49 05 27.241 26,975 | 26,946 -0.1 31.6 315 30.7
¢ 5~ 99y 39,562 | 39,473 | 40,905 3.6 46 46.1 46.7
¢ 100~299% 10,005 9,895 | 10,938 10.5 11.6 11.5 12.5
¢ 3003 O]At 0,247 9,373 8,875 -5.3 10.8 10.9 10.1
4) 04 ZARRR
HO| 1 1, %)
e SARRS 528 T4
20124 | 20134 | 20144 | “14/13 | 20124 | 20134 | 20144
oA 86,055 85,716 | 87,664 2.3 100 100 100
o X 48,052 47,648 | 49,249 3.4 55.8 55.6 56.2
&0 X 38,003 38,068 | 38,415 0.9 44.2 44.4 43.8
b5) 2 SAAIE
O S8 ZAKSE 2ZAS0] 15,380HO 2 22|72 17.6%= XIX|5tD U1, HAts

0] 11,523%(13.1%), *+M1& 7,977H(9.1%), FI35 7,956H(9.1%) 2=

LIEFLEL AS.
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O TEWH] SAKl+= Hits

11,6232 = 14.9%

HMEAS 2,231HL=E 14.4%,

y =TT

2315 1,888HCE 7.4% Z7t22 H¥CH, M15 1,188H2=E -15.6%, ++A{2
S 6,81982=% -7.4% =2 S8 MBH SAAL #7} Zast WO 2 LELIS

(SE SMA=)

(Tl 8, %)

. ENETES s # T § H
T 20134 20144 EJUINES z4s 20134 20144
28 37 85.716 87,664 1,048 2.3 100 100
M1 E 1,408 1,188 -220 -15.6 16 1.4
N2 = 2,635 2,559 -76 2.9 3.1 2.9
M3 = 3,247 3,458 211 6.5 3.8 3.9
2 M E 15,227 15,380 153 1 17.8 17.6
2o E 1,758 1,888 130 7.4 2.1 2.2
HIoE 4,790 4.472 -318 -6.6 5.6 5.1
HR3E 7,911 7,956 45 0.6 9.2 9.1
Sy - 1,922 1,856 -66 -3.4 2.2 2.1
NHH1E 3,334 3,299 -35 1 3.9 3.7
HM2E 7.242 7.698 456 6.3 8.4 8.8
4H3IE 5218 5,060 -158 -3 6.1 5.8
MELE 1,951 2.231 280 14.4 2.3 25
HELIS 3,555 3,720 165 4.6 4.1 42
o A= 10,025 11,523 1498 14.9 1.7 13.1
ITMIE 7,504 7,977 473 6.3 8.8 9.1
TM2E 7,364 6,819 -545 -7.4 8.6 7.8
245 625 580 -45 -7.2 0.7 0.7

Sl =X A
52 SAK B SARRRS 20134
o W ZARREE 20144

18,000

16,000

14,000

12,000

10,000

8,000
6,000
4,000

2,000
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